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The elimination of Chometz is only by burning it

OVERVIEW

a7 M derived (through a 1'p from 2m) that 799w XPX yan w2 PR. The 7320
rejected this 1"p since it may come to a R71p (it is 7pr? 1910) if he cannot find fuel
with which to burn the y7r. In response >"1 suggested that we derive it through a
11°¥n from 7011, which again the 7327 rejected. Mmoo discusses what is the 72%:.

- (3,59 97 “NMMNT XN P93 NOMI XN )Y ONDT NNNY %295 NAYNT ANI)
It is the view of m»oown that the ruling is like ' (that 797w XOR ynan w2 PR),
since the Nin of the 71wn ruled anonymously like °"1 in the last P95 of ndon
i~}

nooIN asks:
- 799531 19399 YAINA NIN NI NN N0 AN 539 INT XN 19 DN 9NN ON)

And if you will say; if indeed this is so (that the 7577 here is like *"), therefore in
the case where >''1 rules that the 720 of a 17910 can only be made from the four

kinds which are used for 299 n%°03 (and the 7121 argue); there too -
=I5 Na5N M) NN

The 715977 should also be like '' (that 750 must only be from the 29w o°n '7) -
- 114 995 19199 PNNY INTNNY 11 597 DYON XIN 13249 23959 XY 313 ONH

For there too (regarding the 700) the 3129 argue on °"1 only because of the same
reason the 7127 argue on °"1 here, namely any ruling (of a 1"?), which initially is

stringent but may subsequently be lenient is no ruling -
= 13395 NN 1Y OND (3,0 97 NIIVT NP P99

However in the first P22 of 7210 noon the Nin of the 71wn rules anonymously like

" The mwn there states (anonymously, without mentioning any names [a 71w» Ono]); 7W° 70D YN POIWIT 177 K.
Generally we rule like a ;7712wn ono. See “Thinking it over’ #1.
5" in 2,72 7910 derives this through a 1"p, stating, T N¥2IR2 KOK 31 K 27720 MH2 3M3 PRY 2919 521 100 1770
1297 NY2IRD ROK RN ROW PTIPR 2123 N12°H92 namaw 7210,
? The 1127 there give the same argument there to disprove the 1'p (as they do here by yn), if as result of the 1"p, there
will be a leniency; in the case of 71210 if he does not have the 2°1°» "7 for 750 he will not have a 7210 (and by ynr, if he
has no fuel he will not be 7van the y»m), so this type of 1"p is ineffective. However it seems that regarding y»r the
mwn ono rejected the reasoning of the 7327 and ruled like *", proving that the logic of the 1127 (that if it is 2pr% 1910 it
is not a 1"P) is incorrect; therefore by 7210 as well we should reject the refutation of the 7137 and accept the 1" of >"9
and rule that 750 must be from the a°1°n '7 only!
* The "2 niam amends this to read, 771X 9P (instead of 17 X pi9).
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the 3129 that 720 need not be from the 2°1°» '7 only -
- S195w5 1885 ON NYSTH NN 1930 NN DYDY 15T NPT

For the mwn states, if one used the walls of a 71210 to trellis upon it grapevines

or squash, the rule is if he cut them off from their roots it is “w> for 7o0. The
question is why we rule like *"1 regarding y»n and not regarding 720.°

N1B0IN answers:
- 713581 n1a 299921 79NN 197 BIYM NTINY 9299 19 NP NINT N9 Y

And one can say; that here by yn we establish the ruling like >''% because of
the other expounding, where >"1 derived his ruling through a 1527 7% —

mooIn anticipates a difficulty:
- RWY 1NN %50 DU 91PN IRON 1Y 1IANT 22 HY 9N

Even though the 1127 responded to °"3, saying 7w nxun and »on awx will

(dis)prove your 11°x» 172, and *"1 was silent he did not respond to their question, which
seemingly indicates that the 1127 are right, so why do we rule like >"7 —

mooIn responds (granted that it is a refutation according to the view of >"9):
1NN NI NIV DWNI NNVLN PININRT 19299 1D X920 11979 DIYPN YN
Nevertheless according to us who agree with the 129, who maintain that nxun

nw and M0 2w are burnt (if it is 7M3), there is no refutation to the 1w¥» s from
a3, therefore we rule like "3 that 79w XX ynan My°2 PR (since we disagree with him regarding
"N awR, but rather agree with the 0°1on that they are burnt).

> It is evident from this mwn that 730 need not be from the 0°» '7 it can be (even) from ny>71 193,
® See “Thinking it over’ # 2.
! Initially *" derived his ruling (that 79w XX ynn 202 1°X) through a 1"p from 7M1, However the 7127 rejected this
1" on the basis of 17 11X D7 WY 93. [We accept this rejection of the 1127, and therefore regarding 750 where the
1127 also used this rejection we follow the ruling of the 7137.] Eventually >"3 came up with a different derivation
based on a 11°¥n 7in, it is on account of this other derivation that we rule like *".
¥ See x,m.
? \run an (literally, ‘what do we find’) means that if we find a rule in a certain case we may apply this rule to other
cases as well, unless we can find reason not to apply it to other cases. "9 argues that just as by 7m3, which has a
prohibition of not leaving it over (past its time), we eliminate it through 715>, similarly by y»r, which has the same
prohibition of not leaving it over (109), should also be eliminated through 5™ w.
10 A woman after childbirth must bring a w7 nxvn (and an 797) for a 127p. If it was questionable whether or not
there was a birth, the woman still brings a 5077 ¥ 77 nXun but it is not eaten (by the 0°173, as other 7w NXwMA).
According to *" after the 77y77 nRvn was brought, it is placed in the 71X of the 777V but it is not burnt. Similarly by an
»Yon awk which became 01, the ruling according to " is that it is buried and not burnt. We see (by the ">n owR)
that even though there is an 7M1 MOX nevertheless it is not burnt. This disproves the 11°x1 i1 of "9, since we find
other cases of 7011 which do not require 79, therefore perhaps by y»an also even though there is an 7M1 MOK,
nevertheless it need not be burnt.
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SUMMARY
We rule like "9 that 79w XX Y 32 PR which we derive through a 0% 1
from 7M1 (but not on account of the 1"p).

THINKING IT OVER

1. MooIN proves that 79w KPR Pan W PR from a mwn in 7m0, Seemingly
there are n1awn here in our N>o» which indicate that 7977w X?X ynm w02 PR, such
as the 71wn on 2,X° which states Ww n>nn2a P9 and on 2,nn where the 71wn states
AW MX°w; why did mooin need to bring a m1wn» from 7m0 noon?!'?

2. What was moo1n thinking in his question?"? Seemingly it is obvious that the 1"p
is ineffective (because of the refutation of the 2’21 since it is Hpr% 1910), for >
himself offered alternate ways to derive his law, indicating that he accepted the
refutation on the 1"p. It is seemingly obvious that we rule like >"7 only because of
the 1°¥n 71, so therefore by 720 where there is no 12°%7 71 (only the 1" [which the
1127 reject]), we do not rule like >"9!

1'See footnote # 1.
12 See nnx now.
13 See footnote # 6.
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